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	KS 3 P8a
	KS 3 P8 1-5
	Gravity and Mass
	What is the force that stops object flying off the earth?

· Gravity

· Weight

· Pull

· Newtons
	The international space station is falling back to earth, how can scientists stop this?

· Move it closer to the earth and remove mass.

· Keep it in the same place but add mass.

· Move it further away and reduce the mass.

· Move it further away but add mass.
	Gravity is similar to magnetism because:

· It has a north and southpole

· It is a force of attraction or repulsion between two objects.

· It has a field and causes a force of attraction between two objects.

· It can be shielded with a magnetic material.
	A group of students devise some hypotheses, which of these is most correct?

· If your double your mass your weight increases.

· If you double your mass your weight quadruples.

· If you increase your mass you increase your weight.

· If you double the gravitational field strength you double your weight.



	KS 3 P8a
	KS 3 P8 1-5
	Gravity and Mass
	Weight
	Move it further away and reduce mass.
	It has a field and causes a force of attraction between two objects.
	If you double the gravitational field strength you double your weight.

	KS 3 P8a
	KS 3 P8 1-5
	Gravity and Mass
	Which statement is true?

· Two identical books have the same weight, always.

· Two identical books have the same weight on Earth.

· Two identical books have different weights because they have different masses.

· Two identical books will have the same weight on Earth when placed at the same height.
	The correct unit for weight is:
· N/Kg

· N

· Kg

· m/s2
	The formula for calculating weight is:
· Weight =  Force X Mass

· Weight = Gravitational field strength / Mass

· Weight = Gravitational field strength X Mass

· Weight = Acceleration X Newtons


	

	KS 3 P8a
	KS 3 P8 1-5
	Gravity and Mass
	Two identical books will have the same weight on Earth when placed at the same height.
	N
	Weight = Gravitational field strength X Mass


	

	GCSE PL+MA (1)
	KS 4 AQA Physics 7.1
	Magnetic Forces and Fields
	The difference between a permanent and induced magnet is:

· Permanent magnets can be switched off.

· Temporary magnets have only half a magnetic field.

· Only permanent magnets have a North and South pole.

· Temporary magnets can be switched off.
	You want to plot the magnetic field of a permanent magnet. What is the minimum required pieces of equipment:

· Two magnets, and some iron fillings.

· One magnet and some iron fillings.

· Two magnets and plotting compasses.

· A magnet and a plotting compass.
	Which of the following statements is true?

· A magnet’s magnetic field is strongest at its poles.

· The north pole is attracted to the south pole of a magnet.

· The North pole and the south pole of two magnets will repel each other.

· Permanent magnets have a positive and negative poles.


	Engineers are designing a new maglev train. They could increase the force of attraction by:

· Increasing the distance between the two magnets.

· Decreasing the distance between the two magnets.

· Keeping the distance the same but reversing the polarity of the magnets.

· Decreasing the distance between the two magnets and reversing the polarity of the magnets.

	GCSE PL+MA (1)
	KS 4 AQA Physics 7.1
	Magnetic Forces and Fields
	Temporary magnets can be switched off.
	A magnet and a plotting compass.
	A magnet’s magnetic field is strongest at its poles.


	Decreasing the distance between the two magnets.



	GCSE PL+MA (2)
	KS 4 AQA Physics 7.2
	The motor effect
	What are the minimum things required to make a solenoid are?

· A coil of wire, iron core and a potential difference.

· A coil of wire and a current.

· A coil of wire, iron core and a current.

· A conductor and an electric current.
	Which of the following will increase the strength a of a solenoid the most:

· Increasing the potential difference, adding a wooden core and coiling the wire.

· Increasing the current, coiling the wire and adding a Plastic core.

· Increasing the current, coiling the wire and adding an iron core.

· Increasing the diameter of the coils, increasing the current and adding an iron core.
	Fleming’s left hand rule stipulates:

· Direction of: current, magnetic field and motion, are all perpendicular to each other.

· Direction of: current, magnetic field and motion, are all parallel to each other.

· Direction of: voltage, electric field and motion are all perpendicular to each other.

· Direction of: voltage, electric field and motion, are parallel to each other.
	The strength of an electric motor can be increased the most by:

· Using a stronger magnet and less coils.

· Using a stronger magnet and more coils of wire.

· Using an electromagnet and less coils of wire.

· Increasing the strength of a magnet.

	GCSE PL+MA (2)
	KS 4 AQA Physics 7.2
	The motor effect
	A conductor and an electric current.
	Increasing the current, coiling the wire and adding an iron core.


	Direction of: current, magnetic field and motion, are all perpendicular to each other.


	Using a stronger magnet and more coils of wire.

	
	
	
	
	
	
	

	GCSE Apace Physics
	GCSE P SP 1
	Our solar system
	How far a away from us is our closest star?

A. Beyond our galaxy

B. Beyond our solar system but within our galaxy

C. Within our solar system

D. Further than the moon but closer than our nearest planet
	What is the name of the large cluster of stars that our solar system is within?

A. Andromeda

B. The Milky Way

C. The plough

D. The galaxy
	The planets within our solar system orbit the sun because?

A. They are younger than the sun

B. The sun is the hottest object in the solar system

C. They are denser than the sun

D. The sun has the greatest gravitational field strength
	The life cycle of our closest star began when?
A. Gravity pulling gases together and initiating fusion reactions.
B. Gravity pulling gases together and initiating fission reactions.

C. Electrostatic forces of attraction pulling rocks together and initiating fusion reactions.

D. Fusion reactions pulling gases together.
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	GCSE P SP 2
	The life cycle of a star
	Which type of star does the flow chart below best describe?

1) Cloud of gas

2) Protostar

3) Main sequence star

4) Red giant

5) Whit dwarf

6) Black dwarf
A. A star that is much bigger than the sun
B. A star that is much smaller than the sun

C. A star about the same size as the sun

D. All stars.

	Which type of star does the flow chart below best describe?

1) Cloud of gas

2) Protostar

3) Main sequence star

4) Red super giant

5) Supernova
6) Black hole or neutron star

A. A star that is much bigger than the sun

B. A star that is much smaller than the sun

C. A star about the same size as the sun

D. All stars.

	What is the final stage in the life cycle of this star?

1) Cloud of gas

2) Protostar

3) Main sequence star

4) Red giant

5) White dwarf

6) ????

A. A neutron star
B. A black hole

C. A supernova

D. A black dwarf
	Nuclear fusion in stars produces elements that are no heavier than iron. Where are the naturally occurring elements heavier than iron made?
A. In nuclear reactors

B. In supernova

C. In black holes

D. In neutron stars
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	The life cycle of a star
	A main sequence star doesn’t collapse and is stable because:

A. The outward force due to fusion is greater than the inward force of gravity.

B. The outward force due to fission is balanced with the inward force of gravity.

C. The outward force due to fusion is balanced with the inward force of gravity.
D. The outward force due to fusion is less than the inward force of gravity.
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	GCSE P SP 3
	Orbital motion, natural and artificial satellites
	Which of the following is true if the international space station is to stay in orbit?
A. The closer to the earth the slower the speed of the ISS.

B. The closer to the Earth the faster the orbital speed.
C. The orbital speed of the ISS is not affected by its distance from the Earth

D. The orbital speed of the ISS is only affected by the wind speed of the atmosphere.
	Which of these statements best describes the motion of the moon in its orbit around the Earth?
A. The moon is accelerating towards the earth but moving at a steady speed.

B. The moon is accelerating towards the earth and gaining speed.

C. The moon is accelerating away from the earth but moving at a steady speed

D. The moon is accelerating away from the earth and slowing down
	If a massive comet came close enough to the Earth to slow its speed, what would happen to the earths orbit around the sun?
A. Nothing, it would remain the same.

B. The Earth’s orbit would gradually get larger and the earth would move away from the sun

C. The Earth’s orbit would get smaller and the Earth would gradually get closer to the sun.
D. The Earth would be dragged out of the solar system by the comet
	Which of these statements best describes how objects orbit each other in the solar system?
A. Moons orbit satellites which orbit planets which orbit the sun

B. Satellites orbit moons, which orbit planets, which orbit the sun.

C. Satellites and moons orbit the sun which orbit planets

D. Satellites and moons orbit planets, which orbit the sun.
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	GCSE P SP 4
	Red shift
	When the light from distant galaxies is measured it is found to be of a longer wavelength than galaxies closer to us. This observation is often called what?
A. Red shift

B. Parallax

C. The big bang

D. Expansion
	When the light from distant galaxies is measured it is found to be of a longer wavelength than galaxies closer to us. This observation is called red shift and suggests what?

A. That the size of the universe is constant.

B. The universe is expanding

C. The universe is shrinking

D. The universe is expanding at an ever-increasing rate. 

	The big bang theory suggests what?
A. That the universe began with a massive explosion and will end with a massive implosion.

B. That the universe began as a tiny region of enormous density.

C. That the universe is collapsing and will one day crunch and explode.

D. That the origins of the universe are a complete mystery.
	When a galaxy moves away from us at a great speed what happens to its observed light?
A. Its wavelength increases looking bluer

B. Its wavelength decreases looking bluer

C. Its wavelength increases looking redder

D. Its wavelength decreases looking redder.
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